Appendix N

LADWP Correspondence

From: Kim, Theresa < Theresa. Kim@ladwp.com>

Sent: Monday, January 9, 2023 9:35 AM

To: Ashley Munoz <a.munoz@eyestoneeir.com>; Hwang, Jin <Jin.Hwang@ladwp.com>

Cc: Laura Rodriguez < l.rodriguez@eyestoneeir.com>

Subject: RE: [EXTERNAL] 6136 W. Manchester SCEA - Water Demand

Ashley,

The highlighted items are not used in the determination of a WSA.

-Theresa Kim

From: Ashley Munoz < a.munoz@eyestoneeir.com >

Sent: Friday, January 6, 2023 10:09 AM

To: Kim, Theresa < Theresa.Kim@ladwp.com>; Hwang, Jin < Jin.Hwang@ladwp.com>

Cc: Laura Rodriguez < l.rodriguez@eyestoneeir.com >

Subject: [EXTERNAL] 6136 W. Manchester SCEA - Water Demand

EXTERNAL EMAIL! This email was generated from a non-LADWP address. If any links exist, do not click/open on them unless you are 100% certain of the associated site or source. ALWAYS hover over the link to preview the actual URL/site and confirm its legitimacy.

 Hi – as discussed, below is the estimated water demand table for the Project. Please confirm which of the highlighted uses should be removed from the total. Thank you!

Estimated Project Water Demand

	No. of Units/ Floor Area	Water Use Factor (gpd/unit) ^a	Water Consumption (gpd)
PROPOSED			
Residential			
Studio Apartment	125 du	75	9,375
One-Bedroom Apartment	196 du	110	21,560
Two-Bedroom Apartment	120 du	150	18,000
Commercial			
Restaurant	10,747 sf ^b	30	21,494
Retail	5,373 sf	0.025	134
Residential Amenities			
Leasing Lobby	2,795 sf	0.05	140
Mail Room	1,390 sf	0.12	<mark>167</mark>
Lobby	280 sf	<mark>0.05</mark>	14
Covered Exterior	1,660 sf	<u>—</u>	
Recreation Room	2,965 sf	0.065	<mark>1,927</mark>
Recreation Room	3,225 sf	<mark>0.65</mark>	<mark>2,096</mark>
Recreation Room	1,280 sf	<mark>0.65</mark>	832
Lounge	510 sf	0.05	<mark>26</mark>
Swimming Pool	_	_	<mark>500</mark>
Total Proposed			76,265

sf = square feet

du = dwelling unit

gpd = gallons per day

- Based on sewage generation rates provided by LASAN Sewer Generation Rates Table (2012).
- Restaurant space is assumed to be all full-service restaurant and assumed to be equivalent to 15 sf per seat for a conservative water demand estimate.

Ashley Munoz

Planner



2121 Rosecrans Avenue, Suite 3355 El Segundo, CA 90245 T (424) 207-5337 (direct)

T (424) 207-5333

F (424) 207-5349

Email <u>a.munoz@eyestoneeir.com</u>

Statement of Confidentiality. The contents of this e-mail message and any attachments are confidential and are intended solely for addressee. The information may also be legally privileged. This transmission is sent in trust, for the sole purpose of delivery to the intended recipient. If you have received this transmission in error, any use, reproduction or dissemination of this transmission is strictly prohibited. If you are not the intended recipient, please immediately *notify* the sender by reply e-mail or phone and *delete* this message and its attachments, if any.



Please consider the environment before printing this email.

----Confidentiality Notice-----

This electronic message transmission contains information from the Los Angeles Department of Water and Power, which may be confidential. If you are not the intended recipient, be aware that any disclosure, copying, distribution or use of the content of this information is prohibited. If you have received this communication in error, please notify us immediately by e-mail and delete the original message and any attachment without reading or saving in any manner.